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Method to measure the height of mountain
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HEEER English translation

At first, it is 25 length and method to know in a sentence, | divide 5 shaku by
3 credit shaku to 15 'ensth as a result, it is written that the length of the DF

ZEBER English translation becomes 25 et
| estimate the height of the mountain as shown in the figure. When | assume it DF=EG=x *“ as the explanation, from the segment of a
I make a pole of 1% in front | fall behind 5%k and | put the arrow of the line ratio of parallel lines, EF: GL = AF:FL=): 5 and AF:FL=AI:IM=X:6
7 When translation does A FGL to IJ here and assumes it
pole and the top of the mountain on top of one another . AL
| estimate the height of the mountain as shown in the figure. I'M=8—5=3: | assume 10 seku 1':“1‘“
| make a pole of 1i°U in front, | fall behind 552k and | put the arrow of the pole JLi,;TM__Gt,,\_A(i;f;_:1550_5_1 45
and the top of the mountain on top of one another. W=U+I'=145+5=150sheku
| multiply 1552k between the pole and the pole by 552k that | moved. Because AlJL'is the thing which translation made A FGL,FL[AL] // IL.
And | divide it by 3svaku differences between 8sv2ku gnd 5svaku, From the segment of a line ratio of this and parallel lines,
) y . o AlIM=LL:'M=x:5=150:3

Thgn, | find that the differences from the pole to the middle of the mountain is Than this y=250shaku= 2 5lensth
250y, Finally | do the height of the mountain by a calculation for the height of the

X This is a description which | show you a method. mountain with h. | assume it EA =y.

You can solve the problem for distance and the height equally, too. FAmm thedsegmzm Ofa:]'ne rat'oslfA which is the resemblance because

K This is a description which I show you a method. You can AELand A FGLare the resemblance,

. \ ° : LG:GF = LE: EA = 5:6 = 250+5: y % A& -hif
solve the problem for distance and the height equally, too. Then y = 3069 Thereforeh =306 +4 =310=31length xR -
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It is a height of the mountain problem to demand using a pole
by this problem. It demand high trigonometric ratio in
elucidation at the time, Instead of not using the sign to use by
The present calculation in the native mathematics of Japan,

It calculated a kanji as a sign. ;
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| want to translate it in all work more as much as
possible.




